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BIEHER (L Gy / 91 B)
RAU-
= ERRET 5% 2- U % 3- PO % 4- MU
4B8138~7A38) (7B3B~10A5H) (10A5H~1H5H)
1 129 £ 00 130 £ 06 130 £ 06 -
2 139 =X= 00 140 =X 1.1 141 £ 06 -
3 115 =X 06 115 =+ 0.6 *? 116 =+ 2.0 *3 -
4 151 =+ 0.6 156 =+ 2.6 150 =+ 2.8 -
5 163 = 0.6 *! 167 =+ 2.0 *? 167 =+ 15 *4 -
6 111 = 23 * 113 =+ 29 *? 112 =+ 1.1 *4 -
7 115 = 0.6 *' 117 =+ 06 *? 115 =+ 1.1 *4 -
8 142 =+ 11 150 £ 2.2 144 =+ 10 -
9 125 =+ 26 127 = 1.0 123 =+ 1.1 -
10 112 = 0.6 114 =+ 22 111 = 19 -

*1:BRBHEIE 4 A148~7 A3 ATHS,
*2: HEHMIF7A38~10 86 BTHS,
*3: FEHREIE 10 A6 B~1 A5B8THS,
x4 FREHFETI0A6B~1 A6 BTHA,
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